Diversity IN Culture FESTIVAL

April 11 and 12

Get Ready! The 2018 Diversity in Culture festival is scheduled for Wed, April 11 and Thurs. April 12, 2018. If you have any ideas for a speaker, performer, event, or you have a presentation to share with the campus community, please contact Gigi Fiumerodo directly at mtfiumerodo@vcccd.edu or at 805-358-4489.

Please share with your departments and include the festival in your spring syllabus as these will be designated alternative days of instruction.

Our planning meetings are the first Thursday of the month at 2:30 pm in MCE 226. We will be meeting again on Thursday, Dec 7th.



SCHEDULING TEMPLATE

Please use the below template for scheduling Summer 2018 courses.

As a reminder: **NO FRIDAY OR SATURDAY CLASSES** are to be scheduled. Any deviations from the template below require VP approval.

4 WEEK FIRST SESSION Monday, May 21st - Thursday, June 14th									
Туре	Start Date	End Date	Start Time	End Time	Days	Total Instructional Days	Daily Hours	Total Hours	Total Weeks
3-Unit Lecture	5/21/2017	6/14/2017	ARR	ARR	WEB	ARR	124		30,000,000
3-Unit Lecture	5/21/2017	6/14/2017	8:00 am				12/week	48	4
3-Unit Lecture				11:15 am	MTWR	15	3.5	52.5	4
	5/21/2017	6/14/2017	12:30 pm	3:45 pm	MTWR	15	3.5	52.5	1
3-Unit Lecture	5/21/2017	6/14/2017	6:30 pm	9:45 pm	MTWR	15	3.5	52.5	4

		Mond	WEEK SE lay, June 18	th - Thurso	lay, July	ON v 26 ^{th*}			
Туре	Start Date	End Date	Start Time	End Time	Days	Total Instructional Days	Daily Hours	Total Hours	Total Weeks
3-Unit Lecture	6/18/2017	7/26/2017	ARR	ARR	WEB	ARR	8/week	48	6
3-Unit Lecture	6/18/2017	7/30/2017*	8:00 am	9:50 am	MTWR	24	2		6
3-Unit Lecture	6/18/2017	7/30/2017*	10:30 am	12:20 pm	MTWR	24		48	7*
3-Unit Lecture	6/18/2017	7/30/2017*	1:00 pm	2:50 pm	MTWR		2	48	7*
3-Unit Lecture	6/18/2017	7/30/2017*	6:00 pm	7:50 pm		24	2	48	7*
3-Unit Lecture	6/18/2017	8/1/2017*	6:00 pm	9:50 pm	MTWR	24	2	48	7*
3-Unit Lecture	6/18/2017	7/26/2017			MW	12	4	48	7*
4-Unit Lecture	6/18/2017	7/26/2017	6:00 pm	9:50 pm	TR	12	4	48	6
4-Unit Lecture	6/18/2017		8:00 am	10:40 am	MTWR	23	3	69	6
4-Unit Lecture		7/26/2017	1:00 pm	3:40 pm	MTWR	23	3	69	6
	6/18/2017	7/26/2017	6:00 pm	8:40 pm	MTWR	23	3	69	6
5-Unit Lecture	6/18/2017	7/26/2017	8:00 am	11:15 am	MTWR	23	3.5	80.5	6
5-Unit Lecture	6/18/2017	7/26/2017	1:00 pm	4:15 pm	MTWR	23	3.5	80.5	6
5-Unit Lecture	6/18/2017	7/26/2017	6:00 pm	9:15 pm	MTWR	23	3.5	80.5	6

^{*}Extended end date (and as a result the number of weeks) due to the Independence Day holiday in order to meet minimum required total student contact hours.

Please contact the Academic Data Specialists if you have any questions. **Thank you!**



Fall 2017 Ventura College Class Cancellation Report

	Fall 2016	Fall 2017
Classes scheduled	1,211	1,152
Classes inactivated/cancelled	138	72
Classes remaining	1,073	1,080

	Fall 2016	Fall 2017
Classes inactivated/cancelled before the week prior to first day of school	74	25
Classes cancelled during/after the week prior to first day of school	64	47
Total classes inactivated/cancelled	138	72

Classes Cancelled During/After the Week Prior to the First Day of School

Fall 2016	Fall 2017
554	471
473	402
85.4%	85.4%
Fall 2016	Fall 2017
7.99	8.53
8.71	8.57
	554 473 85.4% Fall 2016 7.99

Note. Sections cross-listed together count as a single class.



Students Enrolled in Two Semesters Who Completed Zero Units

At the request of VP Kim Hoffmans, IEE analyzed the number of students who enrolled in both Fall 2016 and Spring 2017, but did not successfully complete any units.

First-Time Students who Enrolled in both Fall 2016 and Spring 2017 = 1,925
First-Time Students who Enrolled in both Fall 2016 and Spring 2017 and completed zero total units = 75

Gender	First-Time Students (n = 1,925)	Completed Zero Units (n = 75)
Female	50.4%	34.7%
Male	47.8%	65.3%
Unreported	1.8%	0.0%
Total	100.0%	100.0%
Ethnicity	First-Time Students (n = 1,925)	Completed Zero Units (n = 75)
American Indian/Alaskan Native	0.2%	(11 – 73)
Asian	4.2%	4.0%
Black or African American	1.6%	7.070
Hispanic	67.6%	80.0%
Pacific Islander	0.3%	00.076
Two or More Ethnicities	3.4%	4.0%
Unreported	0.8%	1.3%
White	21.9%	10.7%
Total	100.0%	100.0%
American Indian/Alaskan Native Female Male	0.1%	0.0%
Male	0.2%	0.0%
Asian		
Female	2.1%	1.3%
Male	2.0%	2.7%
Black or African American		
Female	0.3%	0.0%
Male	1.3%	0.0%
Hispanic Female		
Male	35.2%	29.3%
Pacific Islander	31.4%	50.7%
Female	0.407	
Male	0.1%	0.0%
Two or More Ethnicities	0.2%	0.0%
Female	1 00/	
Male	1.9% 1.5%	1.3%
Female	0.5%	2.7%
Male	0.3%	0.0%
White	0.376	1.3%
Female	10.2%	0.7%
Male		2.7%
Maio	11 0%	
Total	11.0% 100.0%	8.0% 100.0%



	Avg Age
First-Time Students (n = 1,925)	19.0
Completed Zero Units (n = 75)	19.1

	Received BOG
First-Time Students (n = 1,925)	66.9%
Completed Zero Units (n = 75)	73.3%

Average Units Attempted

200	Fall 2016	Spring 2017	Total
First-Time Students (n = 1,925)	12.2	12.2	24.4
Completed Zero Units (n = 75)	10.0	8.8	18.8